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Abstract. Distributions of boundary functionals for processes with stationary independent increments
are studied by many authors (see, e.g., [1–6]). If we restrict ourselves to the processes with a bounded
variation and with the drift a ≥ 0 then from our results in [4–5] it is easy to deduce the relations defining
distributions of functionals for a subordinator (process with positive and independent increments, see
[3, Ch. III]).
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����� ξ(t) � ��	�
��	�� 

���� � 	�
�� � ������	�� ��
������ � ������	���

ψ(α) := lnE eiαξ(1) = iαa+
∫ ∞

−∞
(eiαx − 1)Π(dx)

∣∣∣∣
α=iu

= k(u),∫
|x|≤1

|x|Π(dx) <∞, −∞ < a <∞.
�� 

!�"� �	���		� a ≥ 0� Π(x) = λ1e
bx� x < 0� b > 0� λ1 =

∫ 0

−∞Π(dx) < ∞� ���� ξ(t)
	������ ����� 	�
��	�
�
�
�	�� �	��� 

�������

ψ(α) = iαa+ λ1

(
b

b+ iα
− 1
)

+
∫ ∞

0

(eiαx − 1)Π(dx). �# 
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���� ξ(t)� ��� ���%�
Π(A) = 0� ��"� A ∈ (−∞, 0) �
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ψ(α) = iαa+
∫ ∞

0

(eiαx − 1)Π(dx),
∫ 1

0

xΠ(dx) <∞, a > 0. �) 
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��� ��� ξ(t) � ������ ����������

ξ±(t) = sup(inf)
0≤t′≤t

ξ(t′), ξ± = sup(inf)
0≤t<∞

ξ(t);

τ±(x) = inf{t > 0: ξ(t) ≷ x}, ±x ≥ 0;

γ+(x) = ξ(τ+(x)) − x; γ+(x) = x− ξ(τ+(x) − 0), x > 0;

γ+
x = ξ(τ+(x)) − ξ(τ+(x) − 0) = γ+(x) + γ+(x);

θs : P{θs > t} = e−st, s, t > 0;

P (s, x) = P{ξ(θs) < x}, x ∈ R1; P (s, x) = 1− P (s, x), x ≥ 0;

P±(s, x) = P{ξ±(θs) < x}; ±x ≥ 0; P+(s, x) = 1− P+(s, x), x ≥ 0.
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P{γ+(x) = 0, ξ+(θs) > x} = C∗(s)
∂

∂x
P+(s, x), x > 0; ��"

C∗(s) = [a]+s−1p−(s), p−(s) = P{ξ−(θs) = 0}. �!"

���� m = E ξ(1) < 0� ���� lims→0 P+(s, x) = P{ξ+ > x} < 1� ��

 ������ � ��" ���
m < 0 � s→ 0

lim
s→0

P{γ+(x) = 0, ξ+(θs) > x} = P{γ+(x) = 0, ξ+ > x}

= P{γ+(x) = 0, τ+(x) <∞} = [a]+p′−(0)
∂

∂x
P{ξ+ < x}.

�$"

��� m > 0 �������� ξ+ ����������  P{ξ+ = +∞} = 1!� ξ− 
�" ������������
�������� � p− = P{ξ− = 0} > 0� ��

 ��� s→ 0 �� ��" �������"� ��

P{γ+(x) = 0} = [a]+p−
∂

∂x

(∫ ∞

0

P{ξ+(t) > x} dt
)

= [a]+p−
∂

∂x

∫ ∞

0

P{τ+(x) > t} dt = [a]+p−(E τ+(x))′.
�%"
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�����	��� *����+�,
		� ��� �������� ξ(t) � 	������+�	�) ����	���-��) �����	�	*�) ξ0(t) = σw(t)'
σ > 0 ���� *������ � ! *
 	
������ � � � �!�" .
� ��� ξ0(t) �����
���- 	
���,
+�		� ξ0n(t)' ����� ����� ��� n → ∞ ���
+
#*-�� ��/� 	
 �	
��		� 
*��
�	�0
1�����	��*� P{γ+(x) = 0} 

2	
�����	�' ��(� ξ(t) = ξ1(t) + at �ξ1(t) 3 ������ � ����+�	�) �
��
��#) ���
�	���		�"' *� ��� at' a > 0' �����
#*-�� 	
���+�		�

ξ0n(t) =
∑

k≤ν0
n(t)

ξ0k,n, P{ξ0k,n > 0} = e−nx, x > 0,

P{ζ0
k,n > t} = e−λ0

n , Π0
n(x) = ane−nx, x > 0,

ν0
n(t) 3 ��
���	���-��1 ������ � �	*�	���	��*) λ0

n = an 
4�� �
��	� at 	
 ξ0n(t) � ���	�		� ��� ��	��
*���� γ+

(n)(x) �γ+
(n)(x) 3 �����*�����

������� ξn(t) = ξ1(t) + ξ0n(t)" � ��
��1 �
�*�	� ��	��
# ���
*���
 
�	����

A
(n)
0 (x, u1) =

∫ ∞

x

eu1(x−z) Π0
n(dz) =

an2

n+ u1
e−nx, x > 0.
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gn(s, x, u1) =
[
ϕ

(n)
− (s, α)a(n)

0 (α, u1)
]0
+
, ϕ

(n)
± (s, α) = E eiαξ±n (θs),

a
(n)
0 (α, u1) =

∫ ∞

0

eiαxAn(x, u1) dx =
an2

(n+ u)(n− iα)
.

 �� n→∞ a
(n)
0 (α, u1) → a! ���� ����	
��
�� ���
� ���������� 
� "����
� ��� α ��

���� � ��� x� #�
	
�$ C∗(s) � ����  ��m < 0 C∗(s) → ap′−(0)! ���� �" ��� �������� �%��
 �� m > 0 �" ��� �������� �&�! ��	��'	�

P
{
γ+
(n)(x), ξ

+
n (θs) > x

}
→

n→∞ ap−(s)s−1 ∂

∂x
P+(s, x) →

s→0
ap−

∂

∂x
E τ+(x).

(	)� a < 0! ���� �
���*�+
� 
�,����

$ ��$ −|a|t "� ����,	��� ξ0k,n < 0 
�
������� 
� ����	
��
� +����
� � ������ " ���� ���� ��� a ≤ 0 C∗(s) ≡ 0�
-��������! )� ��$ ��,����
����� ξ(t)

m = E ξ(1) = a+ Π̃(0) > 0, Π̃(u) =
∫ ∞

0

e−uxΠ(x) dx,

���� ��$ 
'�*� ��	�
�.�'�$ ��	� �������
�/�

$

p−(s) = p− = 1; q−(s) = 1− p−(s) = q− = 0, a > 0,

P+(s, x) = P (s, x);

s−1P (s, x) =
∫ ∞

0

e−st P{ξ(t) < x} dt →
s→0

∫ ∞

0

P{τ+(x) > t} dt = E τ+(x) = m(x).

�0�

- ���� 1 ��������

�������� 	
 ���� ξ(t) � ����	
��
��	� ��
� ���
�� � ��� �
 �%� � �0� �
� �����
������
�������

P{γ+(x) = 0, ξ+(θs) > x} = as−1P ′(s, x), x > 0, �2�

� ����� �	� s→ 0 ������
�

P{γ+(x) = 0} = am′(x), x > 0. �13�

-��������! τ+(x) � �,��
�
�� ���
���� �� ξ(t)! $	�� 
� � ���
���� " 
��� 4�*�
����	����5 � 	�������+������ #�
	
�$�� " �����"	��� ��
��
�*� ����� �� �
���������
������ ������	����� "
�+�
'� (	)� λ =

∫∞
0

Π(dx) <∞! ���� τ+(x) ��� ��������+
�
"�,����

$

τ+(x) d=

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎩

x
a , 0 ≤ x < aζ1, P{ζ1 > t} = e−λt;
ζ1, aζ1 ≤ x < aζ1 + ξ1, F (x) = P{ξ1 < x};
x−ξ1

a , aζ1 + ξ1 ≤ x < aσ2 + ξ1, σ2 = ζ1 + ζ2;
. . . . . .

σn, aσn + Sn−1 ≤ x < aσn + Sn;
x−Sn

a , aσn + Sn ≤ x < aσn+1 + Sn;

�11�

σn =
n∑

k=1

ζk; Sn =
n∑

k=1

ξk, Fn(x) = P{Sn < x}, n ≥ 1.
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���� a = 0� ���� 	

� �
����������

τ+(x) d=

⎧⎪⎪⎪⎨⎪⎪⎪⎩
ζ1, 0 ≤ x < ξ1, E ξ1 = μ,

σ2, ξ1 ≤ x < S2,

. . . . . .

σn, Sn−1 ≤ x < Sn.
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� ���� ������������ ����������� 
� ������ �������� 
�� m = 2n+ 1�
n ≥ 0�

t2n+1(x) = E

[
x− Sn

a
, aσn + Sn ≤ x < aσn+1 + Sn

]
�� 
�� m = 2n� n ≥ 1�

t2n(x) = E[σn, aσn + Sn−1 ≤ x < aσn + Sn].

 ���� 
����!�������� "����������

m1(x) =
∞∑

n=0

t2n+1(x), m2(x) =
∞∑

n=1

t2n(x),

m(x) = E τ+(x) = m1(x) +m2(x).
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#� ��� m(x) 	� ���� ����������� "� ��
�������! ��"
�&
����! Fσn(x) 
�� ���������� '�(� ��������� tm(x)� ��� 
������� ������)������ ��
m(x) ��
������� � ��*����+�'���� 
� x > 0�
,(���� " �"�������! � -#. �� ��/0 ������� m(x) ��"����� 
����+��� �������������1

U(x) = U([0, x]) = E
∫∞
0
�{ξ(t) ∈ [0, x]} dt� � ��!�
U(x) = E τ+(x) = m(x), x > 0. 	
0�

2�!� *��!��� 	
3� � �������� 
 �"(��)������ " �����!�� 4 � -#� �� /5.�
6�� ��������(� 
��+��� ξ(t) " ��
� *��� P (s, x) "���������� ����(��&��*����+����&

�� �������� 	
�40� � -4.� , ����������! 	7� ��� ������������� �����(���� ��������
"���������� m(x)

am′(x) +
∫ ∞

0

[m(x − y)−m(x)] Π(dy) = 1, x > 0, m(x) = 0, x < 0. 	
4�

 ���� ����(������� �������!� " ����������! �������8 (�������8 �!��� ������&
�� 	
4� "�������� �� ����(������(� �������� ��
� "(����� ��� m′(x)�

am′(x) +
∫ x

0

Π(x− y)m′(y) dy = 1, x > 0. 	
9�

:" �
�������%��� 	
3�� 	
#� �� 	
9� ��
�����

������� �� ��� �����	
��
��� ξ(t)� a > 0� ����	�� m′(x) = ∂
∂x E τ+(x)� x > 0�

��
���
��� ��������� 	
4�� � ����� ����� ����
������� ������� �
������
���

m̂(u) :=
∫ ∞

0

e−uxm′(x) dx =
1
u

1

a+ Π̃(u)
=
−1
k(u)

,

k(u) = Ψ(iu), Π̃(u) =
∫ ∞

0

e−uxΠ(x) dx = λ

∫ ∞

0

F (x)e−ux dx, λ <∞.
	
/�

���� f̃(u) = E e−uξ1 = c(c+ u)−1� c > 0� 
�	� Π̃(u) = λ(c + u)−1� ��������
 k−1(u)
�� 	������ ����!�� "���#�$� �����	
��

m̂(u) =
1
ar0

[
c

u
+
λ

a

1
u+ r0

]
, r0 = c+ λa−1. 	
7�
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�

� ���� �� u �
�
��������

m′(x) =
1
ar0

[c+ λa−1e−r0x] =
a−1

ac+ λ
[ac+ λe−r0x], x > 0. ����

��� ������
��� ����	�

���	� ξ(t) ����
� � (1.94) � ��� �� ��	� �
��
���� ��

m′(+0) = lim
u→∞um̂(u) = lim

u→∞
1

a+ Π̃(u)
=

1
a
,

m′(+∞) = lim
u→0

um̂(u) =
1

a+ Π̃(0)
=

1
m
.

�
��

�������

� �� �
������������ ��	� ����� �������� ���
��������� �  ���!"�
��#��� � ���$ �%���� � �&�'

s−1 E e−uξ(θs) = (s− k(u))−1 →
s→0

∫ ∞

0

e−uxd

∫ ∞

0

P{τ+(x) > t} dt = −k−1(u).

(�"�� 
���! �� ����)�' 
�� m(x) ��*

������� �� ��� ����	�

���	� ξ(t) � a > 0 �	
 λ < ∞ ����
���� U(x) = m(x)
�
�
�������� �������
���

��

m(x) =
∞∑

m=1

tm(x) = m1(x) +m2(x), �
��

 m1,2(x) �
�� ��+�!� �� �"������ tm(x)� m = 2n + 1� m = 2n� ��#�� �
���	���
�
���	���

�

t2n+1(x) =
λn

n!

∫ x

0

(
x− y
a

)n+1

e−λ x−y
a dFn(y), Fn(y) = P{Sn < y}, y > 0,

t2n(x) =
λna−1

(n− 1)!

∫ x

0

(
x− y
a

)n

e−λ x−y
a [Fn(y)− Fn−1(y)] dy, x > 0.

�

�

��	����	�

� $������ t̃m(u) =
∫∞
0
e−uxtm(x) dx �
�
�������� ��	�� f̃(u) = E e−uξ1

t̃2n+1(u) =
aλn(n+ 1)f̃n(u)

(λ+ au)n+2
, t̃2n(u) =

nλnf̃n−1(u)
(λ+ au)n+1)

1− f̃(u)
u

,

�
������" ���� ����
���#����� �	���� �������
���

� ���

m̃(u) :=
∫ ∞

0

e−uxm(x) dx =
−1
uk(u)

. �
+�

%"�� ξ(t) 
���	�	�

& �

�� �	���� � a < 0  ��&�� 
����
���	�	�

& �

�� � a = 0
� (2)!� ���� �	
 m < 0 ��
�	��	
�� ξ+ �
�
�������� �������
���

��

E e−uξ+
=

1
ρ′−(0)

u

k(u)
=

m

a+ Π̃(u)
, m = a+ Π̃(0) < 0,

ρ′−(0) =
1
|m| , p+ =

m

a
,

(E e−uξ+
=

b|m|u
k(u)(b− u)

=
b|m|

λ1 − (b− u)Π̃(u)
, m = Π̃(0)− λ1b

−1 < 0).

�
,�

������

�� -�%&� ���.�� t1(x) = x
ae
−λx/a$ x > 0# /�0� �&"������ �� ��
���%�'

!���������� 
� 0�"������ ���
���"! σn

F ′σn
(x) =

λn

(n− 1)!
e−λxxn−1, x > 0,
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 tm(x)� m = 2n� m = 2n+ 1� � ����
����� 
���� �	�����
��
���	
 	������������
 ����� ��	

 �����������
 ���
�	� � ���� ���
������ 	�������

������
 �

 t̃m(u)�  ��� �

 m̃1,2(u) =
∫∞
0
e−uxm1,2(x) dx ����!����	
 	���"���

	������������
 � ���#���$ k(u)

m̃1(u) =
a

(λ+ au)2

(
1− λf̃(u)

λ+ au

)−2

=
a

k2(u)
,

m2(u) =
1− f̃(u)
u(λ+ au)2

(
1− λf(u)

λ+ au

)−2

=
λ(1 − f̃(u))
uk2(u)

,

��%�

��	

 	�
�����
 
��$ �	�����
�&��	
 ��'�� (	��
��� m̂(u) = um̃(u)� �� �)*� � ��'�
������
������ + �	�����, -��������.�/��, ����!��	�� ���0� � �'�'*� ��'�1'�� � 2%3 ���
�
���& ��'�� 4������ "� ����� ��	���� �)5�� ����� ��'� �������
���	
 #�! 	���� #���
!����# u±1� �

������� �� ���� ��� �	
����
����� ξ(t) a→ 0� ���� ����
� � �)�� ����
��������

��� ��

m(x) =
1
λ
H(x), H(x) =

∞∑
n=0

Fn(x), F0(x) = Ix>0, ��5�

m(+0) =
1
λ
, m(x) ≈ x

λμ
=

x

m
, x→∞. ��*�

������

�� ��	

 �	��������
 �� �
���$ ���$���#�� "�

tn(x) =
n

λ
[Fn(x) − Fn−1(x)], n ≥ 1, x > 0, Fn(x) = 1− Fn(x). ��6�

7� ��6� ��	

 	�
�����
 
���� ����	��� "�

m(x) =
∑
n≥1

tn(x) =
1
λ

∑
n≥1

n[Fn(x) − Fn−1(x)] =
1
λ
H(x).

8������������
 ��*� ���
������ � ����� "� ����� ��5�� H(+0) = 1� � �� �
�#������
��� �����#�� ������
���
 H(x) ≈ xμ−1� x→∞�
9�� ����!��� �������
�

γ1(x) = γ+(x), γ2(x) = γ+(x), γ3(x) = ξ(τ+(x)) − ξ(τ+(x) − 0)

�

 	������������ � a > 0 	
�� ������	���� ���������� ����
����� �����#� '�6 � 2%3
�

 #�/!� ���������������$ ����� ���.�	�� � ��#�

���� ���� � 
��, ��� λ1 → 0
���� b → ∞� ����!�&��	
 �'��  ��� 	������������
 �

 ����#�!��$ -���.�/ �����
2%3 �'�%1�:�'�%%�� k = 1, 2, 3� 	���"����	
 ��	��
��� ξ−(θs) ��	����!��� � ;�

Gk(x, uk) =
∫ 0

−∞
Ak(x− y, uk) dP−(s, y) = Ak(x, uk) =

⎧⎪⎨⎪⎩
∫∞

x
eu1(x−z) Π(dz), k = 1,

e−u2xΠ(x), k = 2,∫∞
x e−u3z Π(dz), k = 3.

<�"� ��������� Ak(x, uk) = Ak(x, uk)−Ak(x, 0)� k = 1, 2, 3� ���� ������ � �'�)5)� � 2%3
#�& #�	.� 	������������
∫ ∞

0

e−ukz P{γk(x) > z, ξ(θs) > x} dz = −(suk)−1

∫ x

0

Ak(x− y, uk) dP (s, y), y > 0,

� 
���� ��� s→ 0 ���
���&� "�∫ ∞

0

e−ukz P{γk(x) > z} dz = − 1
uk

∫ x

0

A(x− y)m′(y) dy. ��1�



�� �� �� ���	


����� ����	
��
��� �
����
�� �� ���� ����
�
����� 	���

�
��� �k = 1, 3�

fk(x, uk) := E e−ukγk(x) = 1 +
∫ x

0

Ak(x − y, uk) dm(y), ����

�
� ����� 	

���� limuk→∞ fk(x, uk) ����
�
��� �k = 1, 2, 3� �����
�����

P{γk(x) = 0} = 1−
∫ x

0

Π(x− y) dm(y) = am′(x). ����

�
�� ��	��  �� k = 3 
���

�� !����
����� ��"�
 �
���
�� � � �
#�! $�
��

P{γ3(x) = 0} = 1−
∫ x

0

[m(x)−m(x− y)] Π(dy)−m(x)Π(x).

% ���� ��&� ������ ��'���� ���� � ���� �#���
������( �

����� �� ������ 
���

��) �����
�����! ���
�����*����

������� �� ��� ������	�
� γk(x)��
���
��	��� ξ(t) ���	� ����� ��������������

f1(x, u1) = am′(x) +
∫ x

0

∫ ∞

y

eu1(y−z)Π(dz)m′(x− y) dy, ����

f2(x, u2) = am′(x) +
∫ x

0

e−u2yΠ(y)m′(x− y) dy, ����

f3(x, u3) = P{γ3(x) = 0}+m(x)
∫ ∞

x

e−u3z Π(dz)

+
∫ x

0

e−u3z [m(x)−m(x− z)] Π(dz).
��+�

�
�������� ��	�������
� ������ � �������+� �� uk �
������	��� �������	� γ1,2(x)
	� �������� γ3(x)�

∂

∂x
P{γ1(x) < z} =

∫ x

0

Π′(y + z)m′(x− y) dy, z > 0, ��,�

∂

∂x
P{γ2(x) > z} = Π(z)m′(x− z)I0≤z≤x, ��&�

P{γ3(x) > y} =
∫ x

y

[m(x)−m(x− z)] Π(dz) +m(x)Π(x ∨ y), ��-�

P{γ3(x) > x} = m(x)Π(x) ��
 y → x > 0.

���������� ����� �� ������ P{γk(x) = 0} �� ���� 	���

�
��� fk(x, uk) �
.��
���
��	�� � ����/��+��  � �.�
����� �� uk �� ��	
��� ��'� ����	

���� �#�
 ���( 0�#
�1
�
� ���� � �
"�*���� 
��.����� �� ��!��	� ����	

�� �
  �� �
�����2∫ x

0

∫ ∞

y

e−u3z Π(dz)m′(x − y) dy =
∫ x

0

. . .

∫ z

0

dy +
∫ ∞

x

. . .

∫ x

0

dy.

% ���� �.�
����� �� u1 � �!���*���� ����� �
���� y − z = −z′( % ���� �.�
�����
�� u2 ����� ��� ��#���#� P{γ2(x) > z} = 0 �
� z > x( ����� �.�
����� ��+� �� u3

����
�#� ��
)� ����� 3�������� γ3(x) �  �$�
����
�
) Π(dz)� 
 ����� ����	
��
���
44 ����
�
*���� 
���� �� ��-�( �
� y = 0 ��-� ��	� "�*���� �  � 
�#���� $�
���
�
���� P{γ3(x) = 0} ����� ����( �

5� �
��� #� �(� � 6,7 � �
"�*����



��� �������� �	
����

��� �	�����

���
 ��

���� �� ��� �����	
��
��� ξ(t) a > 0 � m > 0� 
��� ���	�� � (3.166) � ��� ���
�
����� ������	�������

∂

∂z
P{γk(∞) < z} = Π(z)Π̃(0)−1, Π̃(0) =

∫ ∞

0

Π(z) dz, k = 1, 2,

P{γ3(∞) > z} = m+

∫ ∞

z

yΠ(y) dy, m−1
+ =

∫ ∞

0

yΠ(y) dy, k = 3,
����

��
 ����� ��������
� �����	��� γk(∞) ��	 a ������ �������
 P{γk(∞) = 0} = 0�

�	
 ��
��������� ���������������� �������� ξ(t) ��������	�� � ��� ���� ���
��

��������	 R(x) �� ��!�	"����� Rs(x)# x > 0# ��$�
 �����%�
 ���&
����
 ��& ��'���
�	
 ��	�&��(� � ��������"��(� ����������(� !��! ������ ! � 
 	
����

ψ(α) = iαa+ λ

∫ ∞

0

(eiαx − 1) dF (x), a < 0

��!�	"����� Rs(x) � ��������	 R(x) ��!��)���"�
 � ��� ���*
� ����(��	"��
� ����+
�������

�

R̃s(α) =
∫ ∞

0

eiαxRs(x) dx =
1

ψ(α)− s
∣∣∣
α=iu

=
1

k(u)− s , Imα > ρ−(s), s ≥ 0,

R̃(α) =
∫ ∞

0

eiαxR(x) dx =
1

ψ(α)

∣∣∣
α=iu

= k−1(u), Imα > ρ−(0), k(ρ−(s)) = s.

��,�

�	
 &���	"��(� ����������(� !��! ������ ξ(t) �!��)���
 ��������	 ����&��"�

� - '�� ��� .�
 /� &	
 R(x) ����&��"�
 ���*��� !�%��/���
 R(x) !�	�/�� ��& !��� 
m = E ξ(1)� 0����
�# ! �����
� '���� � ��� &	
 ����������� !��! �������� ! σ2 ≥ 0
 ����&� m = 0 ���	���1

���� �� ��� ������� ξ(t) � �������
�� (4.9) � ��� �σ2 ≥ 0� a < 0� �� � σ2 = 0�
var ξ(t) <∞! ��
������ R(x) ���	�� � (4.33) � ��� ��
 m = 0 ��� ����������

R(x) =
√

2
σ1

E τ0(x), E τ0(x) =
∫ ∞

0

P{ξ0(t) < x} dt, �'2�

	� σ2
1 = D ξ(1)� ξ0(t) " �����	
��
�� � a0 = σ2

σ1
√

2
� Π0(dx) = λ0F̃ ′(x) dx� F̃ ′(x) =

μ−1F (x)� λ0 =
√

2
σ1
λμ� #� � λ = ∞� Π0(dx) =

√
2

σ1
Π(x) dx�

$��%���� m0(x) = E τ0(x) ��
 a0 > 0 ��%
����
��� �� &�������
�'(!)�'*! ���+
��� �����
 λ �� λ0 
� F ′(x) �� F̃ ′(x)!�
#� � σ = 0� 
�	� 	�� �,�	%��
��� ξ0(t) ���	�� � (4.36) � ��� ��
������ R(x)

�
�����
��� %���� &������ ��	�������� 	��

S̃n =
∑
k≤n

ξ̃0k, F̃ (x) = P{ξ̃01 < x}, F̃ ′(x) =
Π(x)

Π̃(0)
, x > 0, �'��

R(x) = Π̃(0)H̃0(x), H̃0(x) =
∞∑

n=1

F̃ (x)∗n. �'3�

-�
 ����� R(+0) = H̃0(0) = 0 � ���	�� � ����

F̃ ′(x) = Π(x)Π̃(0)−1 =
∂

∂x
P{γ1,2(∞) < x}. �'��



�� �� �� ���	


����� ����	
�

� ��
� � ���� ����� �������� �� �����
����� m(x) 	 ��
� ��� ������
��
����� ��� a→ 0 �� R(x) ��� 
������	
��� �
��� ξ(t) � m = σ = 0 	��� �!����
"���� 	����	��
� #�
�$�� 	��
�	��

� ���� 	 ��
� H(0) = 1% � 	 ���� H̃0(0) = 0�&
����	
�

�� �'(� �� ��)� ��� ����
$���� �������
����� � �)*� ��� ����
$���� R(x)

������	
��� �
��� ξ(t) ����� �������� ��� ���� �� �'(� � �)*�% ������
�� �� �����
�	���

� +������ ����
$���� R(x)%

�)*�⇔ R̃(u) =
∫ ∞

0

e−uxR(x) dx =
1

k(u)
, k(u) = ψ(iu).

,�� ���
�$� 	��	��-���� 	 �
���� ��� k(u)� ��� �������
�����

−k(u) = u(a+ Π̃(u)) > 0

��� u > 0% ��� 
������	
��� �
��� ξ(t) k(u) > 0 ��� u > ρ−(0) �ρ−(0) > 0� ���
m > 0& .��� ����% �'(� - �����	���

�� +������ ��� U ′(x) = m′(x)% � �)*� / ���
����
$���� R(x)&

���������� �	 0��1
� 	���
�"���% 2� ����
$��� R(x) ��- 1�����3 ������ ������
��	�

� 	 ���
�"
�� ����"�� ��� 
���
���

�� 
���	
������	
�� ���$���	& 4� 
��
	��
������� 
� ��1� 	��������

� R(x) ��� ������ �

� ��������� ���
�"
�� #�
�
�$��
���	 $�� ���$���	% � 3 �������	�

� R(x) 	 ����"��% ��	5���
�� � �����

��

� ���� �
��� �
���	���% 	 ����"�� � ��
������

�� �� �	������

�� 	��������% �
���� �� ��������! ���	& 	 67% �&�8�& ,�� 	 ���� ��
���

���� �������
����� �����
�������	�

� ����
$���� U(x) �	� �!����&

4�� ξ(t) � ������
��! �'� ����
� � �������! '&'� 	 6
8 ξ(t)t−1 →
t→0

a% � ��� �������


��� ���$��� � 
&�& ��- ���$� ������
�3 ����
 	������ "���� ���	& ������� '&') 	
6
8�% � 
� ��
�	� �)7�9�)(� 	��
�"�!���� ��������� ξ(τ+(x)± 0)& :� � ��- ���$�

������� �� 
�� ��
���������� ξ(t) ����� ������� m = E ξ(1) = a+Π̃(0) <∞� ����
P
{

lim
t→0

t−1ξ(t) = a
}

= 1, lim
t→∞P

{
t−1ξ(t) = m

}
= 1. ����

��������� ξ(τ+(x)) > x �� ξ(τ+(x) + 0) < x ������������ ���

P{ξ(τ+(x)) > z} =
∫ x

0

Π(z − y)m′(y) dy, z > x, ��7�

P{ξ(τ+(x) − 0) < z} =
∫ x

x−z

Π(y)m′(x− z) dy, 0 ≤ z < x. ��
�

��� z → x∓ 0 �� ��7����
� ���������  �

P{γ+(x) > 0} = P{γ+(x) > 0} =
∫ x

0

Π(x− y)m′(y) dy. ��(�


��������	 ��7�9��
� 	����	�!�� �� ����% 2�

ξ(τ+(x)) = x+ γ+(x), ξ(τ+(x)− 0) = x− γ+(x),

� ����� �
�����	�

� 2���
����3 �)7�9�)
� 	���
�	�!!���� 	����	��
� ���		��
�1�
�

� ��7�9��
�% � ���� ��� z → x∓ 0 	����	�- ��(�% 2� ����� �-���� � �)'�& �
���������� !& 4�� 
���
���

�� 
���	
������	
�� ��� ��3 � 
���	
������	
��

�
��� ���$���	 ξ(t) #�
�$��
�� τ+(x) - ��
���

�� ��
����
�� ���$���� � 
&�& ��
x ≥ 0& ; ������ 	������� ��� 
���� �� 
� �
�3�� �������������� +�	� ��
�"�

�
γ � �������	� ���� Π(A) 
� R+% ��	& < )&7 � 678�& ��� γ > 0% τ+(x) - �������
������&
4�� �������
�����	 ξ(t) τ+(x) ��1� ��� a → 0 �� P{ξk > x} = e−cx (c > 0) -
������
�	����� ���$���� � �
��
��	
���! λ′ = c �� ��������� ζk& ; �����	
��� ����
τ+(x) 
� - ��
����
�� ���$���� � 
&�&



��� �������� �	
����

��� �	�����

���
 ��

�������� 	
��
��� {ξ(τ+(x)), ξ(τ+(x)−0)}
�� ���
 ����
 
��	��
� � �
	��� ���
�������� ����	�
	�� {γ1(x) = γ+(x), γ2(x) = γ+(x)}� 
��	����� � ���� �� ��������
 
!��� �� �
"�
�� 	
����� # $���% �������&

������� �� ��� �����	
��
��� ξ(t) ������
� �����	�� {γ1(x), γ2(x)} �
������
���

�������
��


∂2

∂z1∂z2
P{γ1(x) < z1, γ2(x) < z2} = m′(x− z1)Π′(z1 + z2)Iz2≤x, $'(%

∂

∂z
E
[
e−u2γ2(x)γ1(x) < z

]
=
∫ x

0

e−u2ym′(x− y)Π′(y + z) dy, $')%

∂

∂y
P{γ2(x) < y, γ1(x) < z} = m′(x− y)Π(y + z)Iy≤x, $�*%

P{0 < γ2(x) < x, γ1(x) < z} =
∫ x

0

m′(x− y)Π(y + z) dy

⇒
z→0

P{0 < γ2(x) < x, γ1(x) = 0} =
∫ x

0

m′(x− y)Π(y) dy.
$�+%

����	����� ������ � �	
�� 
 ��� ���������� �� �������� ��� s = 0� �����������

V (s, x;u1, u2) = E
[
e−u1γ1(x)−u2γ2(x), ξ+(θs) > x

]
,

V (0, x;u1, u2) = E
[
e−u1γ1(x)−u2γ2(x)

]

���������� ����� ���� �! G(s, x, u1, u2) =

∫ 0

−∞A(x−y, u1, u2) dP−(s, y), ��� ������
� �"� ����#������ �����$��� �������$ ξ−(θs) %�� $�&� ����'�� p−(s) = 1 
 ��$��(

G(s, x, u1, u2) = A(x, u1, u2) =
∫ ∞

x

eu1(x−z)−u2x Π(dz).

)��� �$� ξ(t) ��� a ≥ 0 ����������� {γ1(x), γ2(x)} ���

 �	
�� 
 ���� %�� 
��$��*

V (s, x;u1, u2) = s−1

∫ x

0

A(x − y, u1, u2) dP+(s, x),

� ����� ��� s→ 0 
��$�
��( #�

V (0, x;u1, u2) =
∫ x

0

m′(x− y)
∫ ∞

0

e−u1z−u2yΠ′(y + z) dz dy. ��+�

,��$� �'������� ��+� �� u1 
�����
$!����� �-.�( � ����� ���$� �'������� �� u2


��$�
�� �-"�
 /� �-"�0�-.� 
��$�
�!�� ��1�0��2�
 ,��  ��%� ��2� ������������ �
��%����� �3��! ���%�$�! ���

 ��� 
���� �� �
4	�


,�� a = 0 �-"�0��2� ��
����! 
������!�� �������$ {γ1(x), γ2(x)}( ����$��� �$�
γ1,2(x) 
������� ���%���� �%�
�������
 5�#� a > 0( ���� 
 ��$� �+
��� 
 ���

P{γ1(x) = 0, γ2(x) = 0} = am′(x) > 0,

� ���%�$� �-"�0��2� 
������!�� �������$ ������ �������6 ������� {γ1,2(x) > 0}
 �
 �6 ���%�$ $���� �������� ���

����&���� �$� ���$����� �������$�

{ξ(τ+(x), ξ(τ+(x) − 0))},
����$��� ξ(τ+(x)) = x+ γ1(x)( ξ(τ+(x) − 0) = x− γ2(x)
 �

�7����%� ������� ��� ��( �� �%������� ���

����&���� �2"�0�2.� �$� ��'��������8

��( ��#� ����������� ����'��
 f̃(u) = c
c+u ��%����� �� ��$����
� ����������� +8��

�������




�� �� �� ���	


������� �	 ����� ξ(t) ���	
��
��	
 � a > 0� f̃(u) = (c/(c+ u))2� c > 0� �	��

Π(x) = λ(1 + cx)e−cx, x > 0; Π̃(u) = λ
2c+ u

(c+ u)2
, m = a+

2λ
c
> a,

a+ Π̃(u) =
aP2(u)
(c+ u)2

, P2(u) = u2 +
(
2c+ λa−1

)
u+ c

(
c+ 2λa−1

)
.

��������	� �	 ����
���
�
� D = λ
a2 (λ − 4ac) � �	����
	�	 �
���� �
� D < 0�

�	�
����	 D = −4ω2

P2(0) = c(c+ 2λa−1) = c2ma−1,

P2(u) = (u+ δ)2 − 1
4
D, δ =

2ac+ λ

2a
> 0.

����
	 � �� ! ����" ����

" (c+ u)2 
� P2(u) ����	 �
����

m̂(u) =
(c+ u)2

auP2(u)
=

1
au

[
1− 2λca−1

P2(u)

]
− λ

a2P2(u)
. �#$!

%��

�

" �#$! �	 u �������� ��� �
���D& �� ���
'�(�� ������
	���� ��" �
	��	��
�	������	 a = c = 1� λ > 0 � �	����
�& )
� *�	�� ��������	� �	 �
� λ = 4� D = 0
� m = 9 = m∗ 
�����	 +���	���, ��
��
�� �� ������
	�� ������� D = 0 �
�
λ∗ = 4ac,m∗ = a2 + 8c!& )
� λ < 4 m < m∗� �
� λ > 4 m > m∗ = 9& -�. ���*�

��
�
��
��	 ����� ξ(t) ���	
��
��	
 � a = c = 1� �	����
�� λ > 0 � f̃(u) =
(1 + u)−2�

�� ���	 0 < λ < 4� D < 0� 1 < m < 9� 1 < δ < 3� ω2 = − 1
4D > 0� �	�� 
��
�

�

P2(u) = 0 ��� �	������
	 ��
���
� �	
�
� u1,2 = −δ ± iω � � ��
	 � �#$!

m̂(u) =
1
u

[
1− 2λ

(u+ δ)2 + ω2

]
− λ

(u+ δ)2 + ω2
. �#/!

!���� 	��

�

� �
	�	�	"
�#�	
���
�� $�
�#�� � �#/! 	��
���	 $�
�#�%

G1(x) = λω−1e−δx sinωx, x > 0; G1(+0) = G1(+∞) = 0;

G2(x) = 2
∫ x

0

G1(y)dy, x > 0; G2(+0) = 0, G2(+∞) =
2λ

2λ+ 1
;(∫ ∞

0

e−δy sinωy dy =
ω

ω2 + δ2

)
.

!���� 	��

�

� �#/! ����
	��&����� ��	%���� ����� ��� m′(x) :

m′(x) =

{
1−G1(x) −G2(x) → 1 �
� x→ 0;
1
m −G1(x) + 2

∫∞
x G1(y)dy → 1

m �
� x→ +∞, �##!

	������� �
� x → ∞ $�
�#�% G1(x) → 0�
∣∣∫∞

x
G1(y) dy

∣∣ < ∫∞
x
e−δy dy → 0 	����&��

� ���&'� �	����

�� (���� �
� λ < 4� 1 < m < m∗ ��
�������� ������	��'
�
	#�
��

m′(x)−1 = O(1), x→ 0; m′(x)− 1
m

= O(e−δx), mx→∞, 0 < δ < 3. �#0!

�� ���	 λ = 4� D = 0� m = m∗ = 9� δ = δ∗ = 3� �	�� P2(u) = (u+ 3)2� !	�
�'��	

f̃∗(u) =
3

3 + u
, f∗(x) = 3e−3x, F∗(x) = 1− e−3x, x > 0.

) ��
	 � �#$! � ������� �
��
	 	 �	
�
� u1,2 = −3 *���� ��
���

� �
��� 
� +"��
 
�$�����

m̂(u) =
1
u

(
u+ 2
u+ 3

)2

=
1
u

+
4
9u
f̃2
∗ (u)− 4

3u
f̃∗(u). �# !
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���
 ��

����� ���	
�

� ���� �� u �

������ �������� �
��� m′(x)

m′(x) =

{
1
a + 4

9F
∗∗
2(x)− 4

3F∗(x) → 1, x→ 0, a = 1,
1

m∗
− 4

9F
2

∗(x) + 4
3F ∗(x) → 1

m∗
, x→∞, m∗ = 9.

����

����������
� ���
�� ���� �
���
����� ��	
��� � δ = δ∗ = 3� m = m∗ = 9�
��  �!� λ > 4� D > 0� m > m∗ = 9� ���� minu≤0 P2(u) = P2(−δ) = − 1

4D < 0�
"������� P2(0) = m > 9� 	��
�

� P2(u) = 0 �
# 	��
� ��	�
�

u1,2 = −2 + λ±√λ(λ− 4)
2

< 0, u1 − u2 =
√
λ(λ− 4), u1u2 = m.

 �!� ���

���� ρ1,2 = −u1,2� �� �$��
� � ���� %���� −ρ1,2 

 ��	���& �&����
��&
$	
'��&�

m̂(u) =
1
u

[
1− 2λ

ρ2 − ρ1

(
1

ρ1 + u
− 1
ρ2 + u

)]
− λ

ρ2 − ρ1

(
1

ρ1 + u
− 1
ρ2 + u

)
. ����

( ���� ����� ���	
�

� �� u ������
#� !�

m′(x) =

{
1− 2λ

ρ2−ρ1
�
#

[
1−e−ρ1x

ρ1
− 1−e−ρ2x

ρ2

]
− λ

ρ2−ρ1
(e−ρ1x − e−ρ2x),

1
m + 2λ

ρ2−ρ1
(ρ−1

1 e−ρ1x − ρ2e
−ρ2x)− λ

ρ2−ρ1
(e−ρ1x − e−ρ2x).

��	�

( ��	� ������
��� ���
�� ���� �	� m > m∗ = 9� δ = ρ1 ∧ ρ2 %ρ1 ≈ 2.4� ρ2 ≈ 4.6��


��
������ ���� � ������
 � � ������������ ��������
�� �� !� ���
����� "� ��#
�
$�� �%�� � $�
��
%��&���' ���� %�' m′(x) �%��(����$' � �
��
 $�
��
%��&���')

�� ��� D < 0� m1 < m∗ * ����+ ,� ��� D = 0� m = m∗ = 9 * ����+ �� ��� D > 0�
m > m∗ = 9 * ��	�-
(
&�
)�

� *- .�' �����������/ ����������/ ����/� ������� ξ(t) � ±a > 0 $���#

��
' �� � !�����!$���� !����'�� �
%� �� ��$��
����$� � ��%���/ � ����� ���� ���#
��%
��� $���,!
� 0# � ���'%!� � 1�� %��- ���!��%�) �-�� $- �0�+ �-�� 2- 0��+ �-0� 2-0��
3� � ��!�( � 1�� %��-��%��
) 0	-�+ 0	-�40	-�	3- 5�� ���(%� !����
 �
��'��' k(u) = 0
%
6$�
 
 ���������� �����%
�� �,$������/ �!$������
�- 7�����
' ,� � !������ !�#
����� ��� ��8 �
$�� � ����%!� m = 0+ ��%
 u1 = u2 = 0 
 P{ξ± = ±∞} = 1- 9� �� !�
��'$���� �� ��!��� ���!��%
-

������� �	 :�/�6 ξ(t) ����������6 ����� �����$ � a = −1 < 0�

f̃(u) =
(

1
1 + u

)2

; Π(x) = λ(1 + x)e−x, x > 0; Π̃(u) = λ
2 + u

(1 + u)2
, λ > 0;

P2(u) = u2 + (2− λ)u + 1− 2λ, m = 2λ− 1, D = λ(λ+ 4) > 0.

;�(� ������(�� �
% ���!� m !����
 �
��'��' P2(u) = 0 * %
6$�
 
 �
��
- <�!����
���)

�� λ = 0.1+ m = −0.8+ D = 0.41 �!����
 �
%=8��
) u1,2 = −ρ1,2� %��- ���!��
 !���

�� $���%����� 
 �$��������  ��>
!�/�+

,� λ = 0.5+ m = 0� D = 2.25 ��%�� !��
�� u0 = 0 
 u1 = −1.5 �� $���%�����
 ��>
!��+

�� λ = 2+ m = 3� D = 12 �!����
 �
��� � ���!� ±√3 �� $��
���
6 ����,��

$���%��� �  ��>
!��-

5�!
 ( !����
 
 �
��'��' uP2(u) = 0 ����� $�
���%���� 
� !����'�� �
��'��' ?��#
%,�� �) k(u) = 0�- <����(���� "� � ����%!� ��m < 0 ξ+ ��8 ������(%���6 �����%
�
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� ���������	
� �
�� � ��� ��� �	���
������	� 	�������
����� �
����� �
 ���� ��
 ����

E e−uξ+
=
|m|(1 + u)2

P2(u)
= |m|

(
1 + λ

2 + u

P2(u)

)
= |m|

[
1 +

λ

ρ2 − ρ1

(
2− ρ1

ρ1 + u
+
ρ2 − 2
ρ2 + u

)]
, p+ = |m|

����

������
 � ��������   � !�" p+ = |m| · |a|−1�#
$�	�� 
�������� ���� �
 u � ���%���& ρ1,2 �����'����	� (�����	�� �
��
���) ξ+

∂

∂x
P{ξ+ < x} =

|m|λ
ρ2 − ρ1

[(2 − ρ1)e−ρ1x + (ρ2 − 2)e−ρ2x], x > 0. ��
�

*�+'� ���	��)���	� ���,�-� y = P2(u) �� y = uP2(u). �� ��� %
�
�
��
�
 ξ(t)
�	)�
������
�� a = 1� � ���-���) ��/ 
� ��� ��%
�
�
��
�
 ξ(t) �a = −1� � ���-��0
�) 
�#

�� y = P2(u) = u2 + (2 + λ)u +m1 m = 2λ+ 1#
2� D = −4 < 01 λ = 21 m1 = 5 < m∗ = 9/ y1 = P2(u)|λ=2 3 �
'-
��4 ���,�-/
�� D = 01 λ = 41 δ∗ = 31 m∗ = 9/ y∗ = P2(u)|λ=4 3 �)�-�����4 ���,�-/
�� D = 5 > 01 λ = 51 m = 11 > m1 y2 = P2(u)|λ=5 3 	)������4 ���,�-#
*� �0%) ���,�-) �)��
�
� �
'-
� ��� �	�& -����& � ������� �
'-
�
� �����
��

(−2; 1)#

� y = P2(u) = u2 + (2− λ)u −m1 m = 2λ− 11 �y = uP2(u)�
2� λ = 0.1/ D = 0.411 m = −01 8 < 0/ y1 = P2(u) �y1 = uP2(u)|λ=0.1� 3 �
'-
��

���,�-�/
�� λ = 1

2 / m = 01 y0 = P2(u) �y0 = uP2(u)|λ=0.5� 3 �)�-����� ���,�-�/
�� λ = 2/ m = 3 > 01 y2 = P2(u) �y2 = uP2(u)|λ=2� 3 	)������ ���,�-�#
*� 
	�����
%) ���,�-) �	� -���� %���� 	�����) �)��
�) �
'-) �5/ 5�#

$���
�
% ��� ����	���� ���
� 	����� �
	�)+��
 -����'�� ��)��+���� � ��������
6# 7# 8
�
��-� �� ���) %
�
���,�� !�" ��
 ���	)���	�� ������) ,)�-��
����� 	)�
�0
�����
��1 �
�����)��& � !�1 �#    "# 9��
� ���'��4 ���������) �� ����� ��)��+����#

����������

�� �� �� �����	
� ��������� 	�
��� 
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������ ���

����
��� �����

��� �
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��� ����

��� ����� �����

�� �� �� ����� ��� ���������� ���� �� � �! "# # �!$ %� ��&� !"�#$%&��'&�()%� �&�(#$� ���*�
+� ,� �&�-�#$� '( )& ���� �� �� .)/0�#%& 1$#�&�2#-3 4�&22� .)/0�#%&� ���*�
5� 6� �� 7�8�
� *�	��
�� ����
+��,����� -����������� ���������������.� ������
��.� ���/

��
� 	 ��	������0� �����
+�0�� 9
�� ��:� ;� �� <�==�>� ? +� +=+@+���
�� 6� �� 7�8�
� 1����
� 	 ��	������0� �����
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